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WB Police Constable (Prelims) Exam. – Practice Set

Answer with Explanation
1. (b) ²Ìí› „%þ›yîû=®Ð

=®Ÿy¢„þ ²Ìí› „%þ›yî=® ò›öì£wy!”“þÄó vþzþ™y!• @ùÌ£’ „þöìîû̃ Ð
2. (a) £y¢y˜ !˜‹y›#Ð

ò“þy‹éôévþzœéôé›y!¢îûó @ùÌsþi!Ýþ 1193 !…ÊÞÝþy· öíöì„þ 1228
!…ÊÞÝþy· þ™ëÅhsþ ¢%œ“þy!˜ ë%öì†îû ²Ìí› !”öì„þîû ‡Ýþ˜yîœ# ~£z
@ùÌöìsþi !œ!þ™îkþ £öìëûöìŠéÐ

3. (d) œvÅþ xy›£yÞÝþÅÐ
œvÅþ xy›£yöìÞÝÅþîû ¢›öìëû ²Ìí› £zDéôéîÊáþ ë%kþ S1824éôé26
!…ÊÞÝþy·V ¢‚†!àþ“þ £ëûÐ

4. (b) 1921 !…ÊÞÝþy·Ð
1921 !…ÊÞÝþyöì·îû 13 ˜öì¦þÁºîû £z‚œÄyöìuþîû ë%îîûy‹ ò!²Ìª
xšþ çöìëûœ¢ó öîyöìÁºöì“þ xy¢öìœ îÄyþ™„þ ×!›„þ •›Å‡Ýþ
¢‚†!àþ“þ £ëûÐ

5. (c) ò!˜!Ÿó vþzþ™‹y!“þÐ
!˜!Ÿ vþzþ™‹y!“þîû ›y˜%¡ìîûy xîû&’y‰þœ ²Ìöì”öìŸ î¢îy¢ „þöìîûÐ

6. (d) ¢›öìîûŸ î¢%Ð
ò!îîîûó vþzþ™˜Äy¢!Ýþ !œöì…öìŠé˜ ¢›öìîûŸ î¢%Ð

7. (c) ‹yþ™yöì̃ îû þ™yœÅyöì›öìrÝþîû ˜y› £œ òvþyöìëûÝþóÐ
8. (d) !î xyîû xyöìÁº”„þîû xyhsþ‹Åy!“þ„þ !î›y˜î¨îû ˜y†þ™%öìîû

xî!ßþi“þÐ
9. (b) ò!¢!œ þ™öìëûrÝþó „þíy!Ýþ !e«öì„þÝþ ö…œyîû ¢öìD ë%_«Ð
10. (c) òîûëûÝþyîûó ¢‚îy” ¢‚ßþiyîû ö„þw#ëû „þyëÅyœëû £œé œuþ˜Ð
11. (a) ¦þyîûöì“þîû ¢‚!î•yöì̃ îû î!’Å“þ ßþºy•#˜“þy– ¢y›Ä ~î‚ ¼y“,þöìcîû

•yîû’y šÊþyöìªîû ¢‚!î•y˜ öíöì„þ ö˜çëûy £öìëûöìŠéÐ
12. (b) ¦þyîû“þ#ëû övþöì›y@ùÌy!šþöì“þ 1921 !…ÊÞÝþy· ‘Grate Divide’

˜yöì› þ™!îû!‰þ“þÐ
13. (d) îûyvþzîûöì„þÍÔy £zßþ™y“þ „þyîû…y˜y!Ýþ þ™!Øþ› ‹y›Åy!˜îû !î!˜öìëûyöì†îû

¢y£yöìëÄ ßþiy!þ™“þ £ëûÐ
14. (d) ö„þyîûöì„þyå†öì›îû ¢y£yöìëÄ xöìëï˜ ‹˜˜ ¢Á™§¬ „þöìîûé {ÞÝþÐ
15. (d) ‹#îyÙÂÐ

öîû!vþç„þyîÅ̃  övþ!Ýþ‚ ~îû ›y•Äöì› ²Ìy÷ì†!“þ£y!¢„þ ë%öì†îû !î!¦þ§¬
xîöì‹Qéôé~îû ¢›ëû !˜•Åyîû’ „þîûy £ëûÐ

16. (b) ¢y•yîû’ œî’ †!œ“þ xîßþiyëû “þ!vþüê þ™!îûî£öì’ ¢Çþ›Ð
17. (d) þšþ’#›˜¢yÐ

šþ’#›˜y¢y †yöìŠé þ™’Å„þy[þ ö”…y ëyëûÐ
18. (b) !¦þÝþy!›˜ B

1

!¦þÝþy!›˜ B
1
ôé~îûû x¦þyöìî öî!îûöìî!îû öîûy† £ëûÚ

19. (c) ‰%þÄ!“þ myîûy †!àþ“þ vþzþ™“þÄ„þyÐ
˜›Å”y ˜”# ¢y“þþ™%îûy ç !îöìõþÄîû @ùÌßþi vþzþ™“þÄ„þy •öìîû ²Ìîy!£“þ
£öìëûöìŠéÐ

20. (b) ö„þ£zî%œ œy›‹yç x¦þëûyîû’ÄÐ

vþz_îûéôéþ™)îÅ ¦þyîûöì“þîû ›!’þ™%öìîû ö„þ£zî%œ œy›‹yç x¦þëûyîû’Ä
¦þyîûöì“þîû ~„þ›ye ¦þy¢›y˜ x¦þëûyîû’ÄÐ

21. (b) „%þ›yëû%̃  !£›yœëûÐ
Ÿ“þo& ~î‚ „þyœ# ˜”#îû ›•Äî“Åþ# x‚Ÿöì„þ îœy £ëû „%þ›yëû%̃
!£›yœëûÐ

22. (b) ²ÌŸyhsþ ›£y¢y†îûÐ
†yœþ™yöì†y¢ m#þ™›yœy!Ýþ þ™)îÅ ²ÌŸyhsþ ›£y¢y†öìîû xî!ßþi“þÐ

23. (c) ç›îû xy·%ÍÔyÐ
‹Á¿% ç „þyÙÂ#öìîûîû ›%…Ä›sþf# !£¢yöìî !˜ë%_« £öìœ˜ ç›îû
xy·%ÍÔyÐ

24. (b) !˜£˜ !£”y˜!„þçÐ
Ÿy!hsþöì“þ ö˜yöìîœ ²Ìy£zöì‹ ¦)þ!¡ì“þ £öìëûöìŠé˜ !˜£˜ !£”y˜!„þçÐ

25. (a) œy ™y“þy öœ!vþ‹Ð
òœy ™y“þy öœ!vþ‹ó ‰þœ!F‰þe!Ýþ òöîÞÝþ £zrÝþyîû̃ ÄyŸ˜yœ !šþ‰þyîû
!šþÍÃó !î¦þyöì† xßþñyîû þ™%îûßþñyöìîûîû ‹˜Ä ›öì̃ y˜#“þ £öìëûöìŠéÐ

26. (a) Casual :  relaxed and unconcerned.
Selective :  relating to or involving the selection
of the most suitable or best qualified.
Discriminate:   recognize a distinction;
differentiate.
Pure :  not mixed or adulterated with any other
substance or material.
Promiscuous :  demonstrating or implying an
unselective approach; indiscriminate or casual.
Synonym of  Promiscuous  is  Casual

27. (a) Effete : (of a man) weak or effeminate.
Strong :  having the power to move heavy
weights or perform other physically demanding
tasks.
Adamant :  refusing to be persuaded or to
change one’s mind.
Bold :  (of a person, action, or idea) showing a
willingness to take risks; confident and
courageous.
Courageous :  not deterred by danger or pain;
brave.
Antonym of  Effete  is  Strong

28. (c) One word substitute is  Dandy.
Snob:  a person with an exaggerated respect for
high social position or wealth who seeks to
associate with social superiors and looks down
on those regarded as socially inferior.
Duffer:  an incompetent or stupid person
Dandy:  a man unduly concerned with looking
stylish and fashionable.

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å
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Licentious:  promiscuous and unprincipled in
sexual matters.

29. (b) To be above board:  business agreement which
is honest and not trying to deceive anyone.

30. (d) irrelevant.
31. (c) ‘Throughout’ means ‘in every part of’. Hence

it makes the sentence meaningful.
32. (d) For indefinite, uncountable nouns, either no

article is used, or we use a word that describes
quantity such as some, considerable, little.
‘Light’ is uncountable noun.

33. (b) The prices were lowered by shopkeeper.
Given sentence is in Past simple tense and it is
in active voice, we need to change it into passive
voice.
Rule : Subject + (was / were) + V3 + Optional
Agents.

34. (c) In direct and indirect speech, when we report
someone’s request, we often use the verb
“requested” followed by an indirect request. The
structure of indirect speech for requests is
typically: “requested + [indirect request].”
In this case, the original sentence is a polite
request: “Could you please repeat the question?”
The correct indirect speech transformation is:
“He requested the interviewer to repeat the
question.”
Therefore, the correct answer is  Option C: He
requested the interviewer to repeat the
question.  This option accurately conveys the
original request in indirect speech without
unnecessary additions or alterations.

35. (c)  If you smuggle goods into the country, they may
be  confiscated  by the customs authority.
In this context, “confiscated” means seized or
taken away by authority due to illegal smuggling
activities. When goods are confiscated, they are
forcibly taken away from the smuggler by the
customs authority as a penalty for violating
customs laws. Therefore, “confiscated” is the
most suitable term to complete the sentence.

36. (a) 17) 2566 (150
      17
        86
        85
          16

17 – 16 = 1
 !˜öì’Åëû ¢‚…Äy = 1

37. (c) •!îû– öŠéyÝþ!Ýþîû ›y˜ = x

 36 + x = 5(36 – x)
îy– 36 + x = 180 – 5x

îy– 6x = 144

îy– x = 24

38. (c) 35 – 5 = 30, 45 – 3 = 42, 55 – 1 = 54
é30, 42 ç 54ôé~îû †.¢y.= = 6

 !˜öì’Åëû î,£_› ¢‚…Äy = 6

39. (a)
4 7

1, ,
3 4

 ¦þ@Ày‚Ÿ=!œîû œ.¢y.=. = 84

 öîœ=!œ 84 ö¢öì„þuþ îy 1 ‡. 24 !›!˜Ýþ þ™îû öîöì‹ çöìàþÐ

40. (b) ²Ìí› !”˜ þ™öìvþü
4

9
 x‚Ÿ

!m“þ#ëû !”˜ þ™öìvþü
4 3

1
9 5

   
 

 x‚Ÿ

5 3

9 5
   x‚Ÿ

1

3
  x‚Ÿ

 xî!ŸÜT íyöì„þì
4 1

1
9 3

   
 

 x‚Ÿ
2

9
  x‚ŸÐ

2

9
  x‚Ÿ = 100 þ™,Ûþy

1 x‚Ÿ
9

100
2

   þ™,Ûþy = 450 þ™,ÛþyÐ

41. (d) (M + T + W + Th) ~îû ö›yÝþ “þyþ™›yey
= (40.2 × 4) = 160.8ºC ...(I)

(Th + F + S + S) ~îû ö›yÝþ “þyþ™›yey
= (41.3 × 4) = 165.2ºC ...(II)

(M + T + W + Th + F + S + S) ~îû ö›yÝþ “þyþ™›yey
= (40.6 × 7) = 284.2ºC ...(III)

‰þ“%þíÅ!”öì̃ îû “þyþ™›yey = Th ~îû “þyþ™›yey
= (I + II) – (III) = [(160.8 + 165.2) – 284.2]
= 41.8ºC

42. (c) •!îû– 10 îŠéîû xyöì† þ™%öìeîû îëû¢ = x îŠéîû ~î‚ !þ™“þyîû
îëû¢ = 3x îŠéîû
þ™%öìeîû î“Åþ›y˜ îëû¢ = (x + 10) îŠéîû–
!þ™“þyîû î“Åþ›y˜ îëû¢ = (3x + 10) îŠéîû
(3x + 10 + 10) = 2(x + 10 + 10)

 3x + 20 = 2x + 40  x = 20

!þ™“þy ç þ™%öìeîû î“Åþ›y˜ îëûöì¢îû x˜%þ™y“þ
= (3x + 10) : (x + 10) = (3 × 20 + 10) : (20 + 10)
= 70 : 30 = 7 : 3

43. (b) •!îû– ~öì”îû ›)œ•˜ ëíye«öì› x Ýþy„þy– y Ýþy„þy ~î‚ z Ýþy„þy
£ëû “þy£öìœ– 14x : 8y : 7z = 5 : 7 : 8

¢%“þîûy‚
14x 5 98x 49x

40y 98x y ,
8y 7 40 20
     

~î‚
14x 5 2x 5 16x

5z 16x z ,
7z 8 z 8 5
      
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49x 16x

x : y : z x : : 20x : 49x : 64x
20 5

  

= 20 : 49 : 64

¢%“þîûy‚ ~öì”îû ›)œ•öì̃ îû x˜%þ™y“þ £œ 20 : 49 : 64

44. (a)
1

A (B C) A : (B C) 1: 2
2
    

 A ~îû ¦þy† 1
56250 18750

3
    
 

 Ýþy„þy

1
B (A C) B : (A C) 1: 4

4
    

 B ~îû ¦þy†
1

56250 11250
5

    
 

 Ýþy„þy

 (A – B) = (18750 – 11250) = 7500 Ýþy„þy
45. (d) !›×öì’îû !˜ëû› myîûy ƒ

S¢hßþy !‰þ!˜îû ¦þy†/!„þ@ùÌyV S”y!› !‰þ!˜îû ¦þy†/!„þ@ùÌyV

(  48)` (  55)`

2.50 4.50

†vþü›)œÄ
(  52.50)`

~£z ”%!Ýþîû x˜%þ™y“þ 250 5
2.50 : 4.50 5 : 9

450 9
   

!˜öì’Åëû ¦þy†
9

60
5
   
 

 !„þ@ùÌy = 108 !„þ@ùÌyÐ

46. (d) •!îû ö›yÝþ ö¦þyÝþ”y“þy = 100, ö¦þyÝþ þ™öìvþüöìŠé = 90

x÷ìî• ö¦þyÝþ = 90 ~îû 10% = 9

÷î• ö¦þyÝþ = (90 – 9) = 81
ö¦þyöìÝþîû þ™yíÅ„þÄ = 81 ~îû (54% – 46%) = 81 ~îû 8%

(81 8)

100




ë!” ö¦þyöìÝþîû þ™yíÅ„þÄ (81 8)

100


  £ëû “þy£öìœ ö›yÝþ ö¦þyÝþ

= 100

ë!” ö¦þyöìÝþîû þ™yíÅ„þÄ = 1620 £ëû “þy£öìœ ö›yÝþ ö¦þyÝþ

100 100 1620
25000.

81 8

     
47. (b) !îe«ëû›)œÄ = 450 Ýþy„þy– Çþ!“þ = 25%.

e«ëû›)œÄ
100

450
75
   
 

 Ýþy„þy = 600 Ýþy„þy

~…˜– e«ëû›)œÄ = 600 Ýþy„þy– œy¦þ = 25%

 !îe«ëû›)œÄ
125

600
100
   
 

 Ýþy„þy = 750 Ýþy„þy

48. (c) ¢îûœ ¢%”
4

6000 5 1200
100

     
 
` `

!˜öì’Åëû ¢›ëû
100 1200

8000 3

    
 îŠéîû = 5 îŠéîû

49. (c) •!îû– !˜öì’Åëû !”˜ ¢‚…Äy = x

„þ› îÄ!_«– öî!Ÿ !”˜ SîÄhßþy˜%þ™y“þV
1200 : 1600 : : 60 : x

1600 60
1200 x 1600 60 x

1200


     

= 80 !”˜
50. (a) S6 îyœ„þ  4 þ™%îû&¡ìV  S3 îyœ„þ  2 þ™%îû&¡ìV

S3 îyœ„þ + 10 þ™%îû&¡ìV  S2 þ™%îû&¡ì + 10 þ™%îû&¡ìV = 12 þ™%îû&¡ì
4 þ™%îû&¡ì „þy‹ öŸ¡ì „þöìîû = 18 !”öì̃
1 þ™%îû&¡ì „þy‹ öŸ¡ì „þöìîû = (18 × 4) !”öì̃

12 þ™%îû&¡ì „þy‹ öŸ¡ì „þöìîû (18 4)

12


  !”öì̃ = 6 !”öì̃

51. (c) •!îû– îyœ!“þ Péôé~îû •yîû’ Çþ›“þy = x !œÝþyîû ~î‚ îyœ!“þ

Qôé~îû •yîû’ Çþ›“þy
x

3
  !œÝþyîû

ö‰þïîyF‰þyîû •yîû’ Çþ›“þy = (60x) !œÝþyîû

(P + Q)ôé~îû •yîû’ Çþ›“þy
x 4x

x
3 3

    
 

 !œÝþyîû

”%!Ýþ îyœ!“þ ö›yÝþ ‘þyœöì“þ £öìî

4x 3
60x 60x 45

3 4x
          
   

 îyîû

52. (c) ¢%¦þy¡ì 1
1

4
 ‡ ù̂Ýþyëû ëyëû

5
4

4
   
 

 !„þ!› = 5 !„þ!›

¢%Ÿ#œ 1
1

4
 ‡ ù̂Ýþyëû ëyëû = (8 – 5) !„þ!› = 3 !„þ!›

¢%Ÿ#öìœîû †vþü †!“þöìî†

4
3

5
   
 

 !„þ!›/‡ ù̂Ýþy
2

2
5

  !„þ!›/‡ ù̂Ýþy

53. (a) •!îû öÝþÆ̃  ”%!Ýþ A öíöì„þ x !„þ!› ”)îûöìc !›!œ“þ £öìîÐ “þy£öìœ–
x (200 x) 1

5x 4(220 x) 200
80 100 2


     

9x 1080 x 120   

¢%“þîûy‚ öÝþÆ̃  ”%!Ýþ A öíöì„þ 120 !„þ!› ”)îûöìc !›!œ“þ £öìîÐ
54. (a) •!îû ç£z îÄ!_«îû !ßþiîû ‹öìœ †!“þ = x !„þ!›/‡ ù̂Ýþy ~î‚

ößþËyöì“þîû †!“þ = y !„þ!›/‡ ù̂Ýþy
48 48

14
x y x y

  
  ...(i)

~î‚
4 3

(x y) (x y)


 

xÄy!‰þ¦þy¢Å
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4x 4y 3x 3y x 7y     

(i) ~ x = 7y î¢yöìœ ƒ
48 48

14
8y 6y
  ...(ii)

6 8
14 14y 14 y 1

y y
      

 ößþËyöì“þîû †!“þ = 1 !„þ!›/‡ ù̂ÝþyÐ
55. (c) •!îû þ™yöì„Åþîû ÷”‡ÅÄ = 3x !›Ýþyîû ~î‚ ²Ìßþi = 2x !›Ýþyîû

þ™yöì„Åþîû þ™!îû¢#›y = 2(3x + 2x) !›Ýþyîû = 10x !›Ýþyîû

îÄ!_«îû †!“þ
5

12
18

   
 

 !›Ýþyîû ²Ì!“þ ö¢öì„þuþ

10

3
  !›Ýþyîû ²Ì!“þ ö¢öì„þuþ

10
60

3
   
 

 !›Ýþyîû ²Ì!“þ !›!˜Ýþ = 200 !›Ýþyîû ²Ì!“þ !›!˜Ýþ

þ™yöì„Åþîû þ™!îû¢#›y = 8 !›!˜öìÝþ x!“þe«yhsþ ”)îûc
= (200 × 8) !›Ýþyîû = 1600 !›Ýþyîû
 10x = 1600  x = 160

¢%“þîûy‚ ÷”‡ÅÄ = (3 × 160) !›Ýþyîû = 480 !›Ýþyîû ~î‚
²Ìßþi = (2 × 160) !›Ýþyîû = 320 !›Ýþyîû
þ™yöì„Åþîû öÇþešþœ = (480 × 320) î†Å!›Ýþyîû
= 153600 î†Å!›Ýþyîû

56. (b) 1 îyîû þ™y„þ ö…öìëû ”)îûc x!“þe«› „þöìîû

22
2 R (2R) 1.26

7
       
 

 !›Ýþyîû

= 3.96 !›Ýþyîû
500 îyîû þ™y„þ ö…öìëû ”)îûc x!“þe«› „þîûöìî
= (3.96 × 500) !›Ýþyîû = 1980 !›Ýþyîû

57. (d) ²Ìí› !e¦%þöì‹îû öÇþešþœ 1
15 12

2
    
 

 î†Å!›Ýþyîû

= 90 î†Å!›Ýþyîû
˜“%þ˜ !e¦%þöì‹îû öÇþešþœ = (2 × 90) î†Å!›Ýþyîû
= 180 î†Å!›Ýþyîû
•!îû ~£z !e¦%þöì‹îû vþzF‰þ“þy = h !›Ýþyîû

“þy£öìœ– 1
20 h 180 h 18

2
      !›Ýþyîû

58. (b) ²Ìí› !î¡ìöìëû x˜%_#’Å
35

2500 875
100

    
 

!m“þ#ëû !î¡ìöìëû x˜%_#’Å
42

2500 1050
100

    
 

”%!Ýþ !î¡ìöìëû x˜%_#’Å
15

2500 375
100

    
 

Ö•% ²Ìí› !î¡ìöìëû x˜%_#’Å = (875 – 375) = 500
Ö•% !m“þ#ëû !î¡ìöìëû x˜%_#’Å = (1050 – 375) = 675
Ö•% ~„þ!Ýþ !î¡ìöìëû x˜%_#’Å = (500 + 675) = 1175

59. (c) ~…yöì̃ R = 30

!˜öì’Åëû 30 300 1
% 100 % % 23 %

130 13 13
     
 

60. (c) ²Ìöì“þÄ„þ ¢y!îûöì“þ 12!Ýþ †yŠé !ŠéœÐ
²Ìí› ~î‚ öŸ¡ì †yöìŠéîû ›yöìGþ îÄî•y˜ = (11 × 2) !›Ýþyîû
= 22 !›Ýþyîû
²Ìöì“þÄ„þ ²Ìyöìhsþ ~„þ !›Ýþyîû „þöìîû ‹yëû†y Šéyvþüy £öìëûöìŠéÐ
 ö›yÝþ ÷”‡ÅÄ = 24 !›ÝþyîûÐ

61. (b)

62. (b) ~î‚   “þöìî

63. (d)

64. (b) þ²Ìí› xÇþîû=!œîû ö×!’
2 2 2 2B D F H J       

!m“þ#ëû xÇþîû=!œîû ö×!’
1 1 1 1Z Y X W V       

“,þ“þ#ëû xÇþîû=!œîû ö×!’
2 2 2 2A C E G J       

65. (a)

66. (c)

67. (d)

68. (b) OUTôé~ ”%!Ýþ vowel xyöìŠé– îy!„þ=!œöì“þ ~„þ!Ýþ vowel xyöìŠéÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



5Achievers
69. (d) a a abbbccc /  aaabbbccc

 acbc
70. (d) 16 × 6 ÷ 3 = 32

16 6 32
3
 

32 = 32

71. (a) 175 – 25 ÷ 5 + 20 × 3 + 10 !‰þ£« þ™!îûî“Åþöì̃ îû þ™îû
175 ÷ 25 + 5 × 20 – 3 × 10 = 7 + 100 – 30

= 107 – 30 = 77
  
   

72. (c) ßþiy˜ !î!˜›öìëûîû þ™öìîû x!›öì“þîû xîßþiy˜ vþy˜!”„þ öíöì„þ 15“þ›
~î‚ îy›!”„þ öíöì„þç 15“þ›Ð
¢%“þîûy‚ ¢y!îûöì“þ îyœ„þ ¢‚…Äy = (15 × 2 – 1) = 29
‹˜Ð

73. (b) (6 × 5) + (3 × 3) = 30 + 9 = 39
(7 × 5) + (4 × 4) = 35 + 16 = 51
(5 × 5) + (3 × 4) = 25 + 12 = 37

74. (c)

i. (c) !e¦%þ‹– xyëû“þöìÇþe ç î,_ ¢î„þ!Ýþîû£z ¢y•yîû’ xMþéöìœ
îûöìëûöìŠé 5 ¢‚…Äy!Ýþ– ¢%“þîûy‚ ~!Ýþ£z !˜öì”ÅŸ „þöìîû vþy_«yîûöì”îû–
ëyîûy ~„þ£z ¢öìD ö…öìœyëûyvþü ~î‚ !ŸÒ#çÐ
ii. (b) xyëû“þöìÇþe ç î,öì_îû ¢y•yîû’ xMþéœ !„þlsþ !e¦%þöì‹îû
îy£zöìîû îûöìëûöìŠé 6 ¢‚…Äy!ÝþÐ ¢%“þîûy‚– ~!Ýþ£z !˜öì”ÅŸ „þöìîû
!ŸÒ#öì”îû– ëyîûy ~„þ£z ¢öìD ö…öìœyëûyvþüçÐ
iii. (a) xyëû“þöìÇþöìeîû !¦þ“þöìîû !„þlsþ î,_ ç !e¦%þöì‹îû îy£zöìîûîû
xMþéöìœ îûöìëûöìŠé 1 ¢‚…Äy!ÝþÐ ¢%“þîûy‚– ~!Ýþ£z !˜öì”ÅŸ „þöìîû
!ŸÒ#öì”îû ëyîûy ö…öìœyëûyvþüç ˜ëû– vþy_«yîûç ˜ëûÐ
iv. (b) !e¦%þöì‹îû !¦þ“þöìîû !„þlsþ î,_ ç xyëû“þöìÇþöìeîû îy£zöìîûîû
xMþéöìœ îûöìëûöìŠé 3 ¢‚…Äy!ÝþÐ ¢%“þîûy‚– ~!Ýþ£z !˜öì”ÅŸ „þöìîû
vþy_«yîûöì”îû– ëyîûy ö…öìœyëûyç ˜ëû– !ŸÒ#ç ˜ëûÐ
v. (d) î,öì_îû !¦þ“þöìîû !„þlsþ !e¦%þ‹ ç xyëû“þöìÇþöìeîû îy£zöìîûîû
xMþéö ìœ îûö ìëûö ìŠé 7, 8. ¢%“þîûy‚– ~!Ýþ !˜öì”ÅŸ „þöìî û
ö…öìœyëûyvþüöì”îû– ëyîûy !ŸÒ#ç ˜ëû– vþy_«yîûç ˜ëûÐ

75. (c)

76. (c)

77. (c)

îûöì›Ÿ îy!vþüîû !þ™Šé˜ !”„þ öíöì„þ ëyey Öîû& „þöìîû xíÅyê–
þ™!Øþ›!”öì„þ ›%… „þöìîû ëyey Öîû& „þöìîûÐ xíÅyê Öîû&îû ßþiy˜
öíöì„þ ö¢ vþz_îûéôéþ™!Øþ› !”öì„þ xyöìŠéÐ

78. (a) ²Ìí› ~î‚ !m“þ#ëû Šé!î!Ýþöì“þ 3 éôé~îû þ™yöìŸ 6, 2, 1 ~î‚ 4
xyöìŠéÐ ¢%“þîûy‚ ‘3’éôé~îû !îþ™îû#öì“þ ‘5’ £öìîÐ

79. (b)

80. (c)

81. (b) vþz¦þöìëûîû ›öì•Ä xyöìŠé = 21 “þy!îû…
¢%“þîûy‚ “þyöì”îû ö›öìëûîû ‹§Ã!”˜ = 21 ˜öì¦þÁºîûÐ

82. (a) 9 1 7 Šéyvþüy x˜Ä ¢‚…Äy

83. (a) îy› A B  E  D  C vþy˜þ –

¢%“þîûy‚– îy›!”öì„þîû öŸ¡ì²Ìyöìhsþ xyöìŠ AéÐ
84. (a)  Aéôé~îû ›y B-~îû ›yöìëûîû þ™%eî•)Ð

85. (c)

~î‚

“þöìî–

——————

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


